N
{9 Ai'/u?.q = Lp(b=a®) &Tgﬁ a?) - =, a%gQL %QQ.H%L@PL&
— o<wi'<_:'€'— , Bzwt o= %--—Lo’f(é 0% 2%

Tewter , =T ¢ =BT (b0 =0
4y _ 4 _ gt 2
2L A LA T S Bo= B3 -wit) (bra’ )_534; _\,\
ﬂ’(wtﬂw b =0 ! AN —
iy g hwr 279
¥ WLz 2 L Buw(bia? a2 . 3
_________i.,>_0<wt< f\rﬁ‘ﬁ“@ bLa?) ot = Yy g o ‘,M?_)
__MWM,__._—'D'_<_Q:E<_—H- n b i -O
< whe 1 éi_ - PDUJ bﬁag_u&g gwu,z 2) (W MLONA
57 b ZR
wte2y ECBM Q= L =0 Pmr[b-/‘t :
Bl R oo hr
A A R A
N, IR W
2 2 2z 2_2 2R
o N:R.L s W L\}a’—q) o(‘w+<ﬂ’ v Boan 'H(‘&Ji'(-?;ﬁ:-
! 4R I 3
W= 0 Tt ;wﬁn .,_”i%‘,,,g,g,t‘:e7;1,,,,,,,,_,.,“,L...w_.
Bzﬁ{f—a."ﬁ :
7 w42 anz z 2 L'R { ‘ §
d. £ bwilb-ai o o _'ﬁfbm(b ) 5 L 4 0t
S ) B «R L
[ e e e e i e =S
2. _ % Maxims em < aenl = ml
R
e -3 — ) )
— )ﬁ _ Corpr... on  clneng = Mjé),L
d //:?»--/—* —de -—m’l )
drenb ]
s . ' '
(o)) Az2d =% mnB=2m Rrvidety MAW/LGJLQ_&L&QE:@_&R@,%_E@_
oo B= 2(m+)5) dintey TRy ~p =k G- (\/ >
' o2 < ﬁ: N 3
JQ\ A= 2d Ao B 2m nmw_&q—fo_wﬁ ﬁ
/ E e / I
e m=l, amﬂzé B=ug’, fﬁgB 0,894.om b
" IMme@ = %(m-r}i) Ry fan MZ0, /U?M9-,/5 . 8= 13,5_,_,.,%.:_0?%:3@5_
SN [ AT y%m:l,/ﬂ'ﬂQ:l, 3“;.3-’;7“:-00
ZAVALNVALN
- 0 0353 a¥9y )[f\hﬂ
\.

¥]




RNEUA

]

} w&\g.
§ \/_

t - W;‘

. . : { 20n e Sl o za =0
A - 24 v ﬁi:.;_ t'z_(m-:-ér) — ’5&'2{ m =0 _;:.:-:_'_Z """9’ 2 5 .o 799
; N ;i- m e fh,.a -p-; =8 .:mﬁ*-.ﬂ-b j = F =
A= Z'Ei = Diey? j % D)

e = =
"“‘(’h-fy\—?m 0 —bﬁ%ﬁ; =12 "*>7"_JE§ ZOA53 ot ’;w!
2.

3.9 V) —R -(, = f=220 44 (] w-a-;%é Y45 2= 1190 W
“ 5 = ’

. z z 2 2 v = 2 _ ‘
b g Veg _.,bg%pz.):(\%;,)g_f%}_ﬁ E5 > wl = V55 445 =330 R
Y Ra‘?'{wz-)a o — L= 23 =0,105 H B AT S e
’ 100 .
e tof = Vet W= g,t;eﬁ_,:: Laxy =709 W

-
W = Ru%g = 4% xg - HOO W .

(20w 0105 = 39412

A <:1 \)_—L‘%—_. : - : wIL - 7
) K-i-(wL-——‘——-% A et = 27,57 ()
* > we 7 w'c DT 36 5= ”
S Py S— 220 e :,A)‘T'Siz,,ﬂ},
.2
Yy (9,6-225)° W =R o = -ﬁqu,fz,z: 10230/
W = nﬁ-f;ﬁg.mm: lozx W =~F.>Cg'>?o = -102% . QU5 = feczae
i / 220’(4}'?2. : oo pots.
e) Grorg 1 o> —‘—‘. : ' P prye
/A (f: Hwa/%g -'—15;130
| /ﬁ? L
e
\ p&—




